
Hardware Contents: 

1) Swivel Cleat Base (Mounts to Dock or Swim Platform) 

1) Swivel Cleat Top (Rotates and locks down doggydocks) 

2)  5/16" Machine Thread Tap Bolts 

2) Small Flat Washers for the counter sink holes in the base 

2)  Medium Flat Washers 

2)  5/16" Nylon Insert Lock Nuts 

1)  ¼-20 Tap Bolt with Hex Head (See Note Below) 

1)  ¼-20 Knob 

1)1/4” Flat Washer 

Note: 

We have eliminated the lock washer previously used to 

tighten.  Instead we have cut a hex shape countersink hole 

which is located on the underside of the base.  The hex bolt 

has been pressed into the hex shaped opening for your con-

venience. You will need to turn the Swivel Cleat’s top and base 

pieces  to separate them in order to install the base. Make 

sure the Hex is flush or the base will not sit level. 

Securing doggydocks® 

1. Place the Swivel Cleat in the closed position. 

2. Set doggydocks mounting board over Swivel Cleat. 

3. Loosen Knob and Rotate the top  of Swivel Cleat 180 degrees. 

4.Tighten knob to secure doggydocks. 

Installing The Swivel Cleat 

The doggydocks hinge  must be supported by the dock or swim platform as shown in setup instructions 

 

1. Measure and mark a line  2-3/8” to the edge.. 

2. Place the Swivel Cleat base on the line and mark the holes to be drilled for bolts. 

Technical Support 1.866.787.PUPS 

sales@pupgearpetproducts.com 

©PupGear Pet Products All Rights Reserved 2022 

Use a 17/64” 

Drill Bit 

The Hardware that is included with the Swivel Cleat 

is for underside mounting. However if your dock is 

wood, you have the option of installing the Swivel 

Cleat from the top side,  however the hardware you 

will need are (2 ) 5/16” x 3” Lag Bolts. And (2) 

Washers. 

Swivel Cleat Mounting Instructions 

2-3/8” 


